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5303-F 

M.Com. (FINAL) A.B.S.T. EXAMINATION, 2019 

Paper – III – F  

ADVANCED FINANCIAL MANAGEMENT  

Time: Three Hours 

Maximum Marks: 100 
 

         PART – A ¼[k.M & v½¼[k.M & v½¼[k.M & v½¼[k.M & v½      [Marks: 20] 

Answer all questions (50 words each). 

All questions carry equal marks. 

lHkh iz’u vfuok;Z gSaA izR;sd iz’u dk mŸkj 50 'kCnksa ls vf/kd u gksA  

lHkh iz’uksa ds vad leku gSaA 

         PART – B ¼[k.M & c½¼[k.M & c½¼[k.M & c½¼[k.M & c½      [Marks: 50] 

Answer five questions (250 words each). 

Selecting one from each unit. All questions carry equal marks. 

izR;sd bdkbZ ls ,d&,d,d&,d,d&,d,d&,d iz’u pqurs gq,] dqy ik¡p iz’u dhft,A 

izR;sd iz’u dk mŸkj 250 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 

           PART – C ¼[k.M & l½¼[k.M & l½¼[k.M & l½¼[k.M & l½      [Marks: 30] 

Answer any two questions (300 words each). 

All questions carry equal marks. 

    dksbZ nks iz’unks iz’unks iz’unks iz’u dhft,A izR;sd iz’u dk mŸkj 300 'kCnksa ls vf/kd u gksA 

lHkh iz’uksa ds vad leku gSaA 
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PART – A @ @ @ @ [k.M[k.M[k.M[k.M    & v& v& v& v 

Q.1 (i) What do you mean by ‘Net Present Value’? 

  ^’kq) orZeku ewY;^ ls vkidk D;k vk’k; gS\ 

 (ii) What is effective rate of interest? 

 C;kt dh izHkkoh nj D;k gS\ 

 (iii) What is Decision Tree? Explain. 

  fu.kZ;u ò{k D;k gS\ le>kb;sA 

 (iv) Explain inflation.  

  eqnzk & izlkj dks le>kb;sA 

 (v) What is Asset – based valuation of Business? 

  lEifÙk & vk/kkfjr O;olk; dk ewY;kadu D;k gS\ 

 (vi) Write in brief on Corporate – Restructuring. 

  O;olk; & iqulZajpuk ij la{ksi esa fyf[k;sA 

 (vii) What do you mean by ‘Project Beta’? 

  ^izkstsDV chVk^ ls vkidk D;k vk’k; gS\ 

 (viii) Explain the term ‘Financial Distress’. 

  'kCnkoyh ^Qk;usaf’k;y fMLVªsl^ dks le>kb;sA 

 (ix) Describe ‘Financial Derivatives’. 

  foÙkh; O;qRifÙk;ksa ¼^Q+k;usaf’k;y MsfjosfVOl^½ dks le>kb;sA 

 (x) Define Lease Financing. 

  iÍk foÙkiks"k.k dks ifjHkkf"kr dhft;sA 
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PART – B @ @ @ @ [k.M[k.M[k.M[k.M    & & & & cccc    
UNIT –I@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – I 

Q.2 Explain future, and present values of cash flows giving suitable examples. 

 mi;qDr mnkgj.k nsrs gq;s udn izokgksa ds Hkkoh] rFkk orZeku ewY;ksa dks le>kb;sA 

OR@@@@vFkokvFkokvFkokvFkok 

Q.3 An investor having three alternative projects of `5,00,000 to investment in each; 

giving cash in-flows as given below for a period of 3 years. 

 ,d fofu;ksDrk rhu oSdfYid ifj;kstukvksa esa fofu;ksx djuk pkgrk gS ftuesa izR;sd esa 

5,00,000 ` ds fofu;ksx ls 3 o"kksZa dh vof/k ds fy;s uhps fn;s x;s vuqlkj udn vkUrfjd 

izokg gksxkA 

   

 

 

 

 

 

 

 

 Suggest which project is better to invest, if discounting rate is @ 10%. 

 vki lq>ko nhft, fd dkSu lk izkstsDV vf/kd vPNk gS ftlesa fofu;ksx fd;k tk;s] ;fn cfÍr 

nj 10% gksA 

UNIT –II@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – II 

Q.4 Explain Capital Budgeting under Risk and Uncertainty giving suitable illustrations.  

 mi;qDr mnkgj.k nsrs gq;s vfuf’prrk rFkk tksf[ke ds vUrxZr iwath ctVu dks le>kb;sA 

OR@@@@vFkokvFkokvFkokvFkok 

Q.5 Explain Capital Budgeting under Capital Rationing giving suitable illustrations.  

 mi;qDr mnkgj.k nsrs gq;s iawth jkf’kikru ¼dsfiVy js’kfuax½ ds rgr iwath ctVu dks le>kb;sA 

 Cash Flows ¼udn izokg½ 

Year P1 P2 P3 

0 (-) `5,00,000 (-) `5,00,000 (-) `5,00,000 

1st `3,00,000 `4,00,000 `2,50,000 

2nd `3,00,000 `1,50,000 `3,80,000 

3rd `2,00,000 `2,50,000 `1,70,000 
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UNIT –III@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – III 

Q.6 ABC Company is considering acquisition of XYZ Ltd. which has 1.5 crores shares 

 outstanding and issued. The market price per share is `400 at present. ABC’s 

average cost of capital is 12%. Available information from XYZ Ltd. indicates its 

expected cash accruals (i.e. in flow) for the next three years as follows; Year              

1 → `250 crores; year 2 → `300 crores; and year 3 → `400 crores. Calculate the 

range (minimum and maximum) of valuation that ABC Company has to consider. 

Assume that the project has a useful life of only three years and no terminal cash 

flow. (PV factors at 12% for years 1 to 3 are respectively; 0.893, 0.797, and 0.712). 

 ABC dEiuh fopkj dj jgh gS] fd XYZ fyfeVsM dk vf/kxzg.k dj fy;k tk;s ftlds ikl  

1-5 djksM+ va’k fuxZfer rFkk cká fLFkr gSaA orZeku esa izfr va’k cktkj ewY; 400 ` gSA ABC 

dEiuh dh iwath dh vkSlr ykxr 12% gSA XYZ fyfeVsM dh miyC/k lwpuk n’kkZrh gS fd bl 

dh ¼bl izkstsDV dh½ izR;kf’kr vkxe ¼jksdM+ vkUrfjd izokg½ vxys rhu o"kksZa ds fy;s ,slk gksxk( 

izFke o"kZ 250 djksM+ `; f}rh; o"kZ 300 djksM+ `; rFkk rhljs o"kZ 400 djksM+ `A vki O;olk; ds 

ewY;kadu dh lhek ¼U;wure] rFkk vf/kdre½ dk vkadyu dhft;s ftl ij ABC dEiuh fopkj 

dj ldsA vki ifj;kstuk dh mi;ksxh thou vof/k dsoy rhu o"kZ eku yhft;s vkSj ;g Hkh fd 

blls vof’k"V udn izokg Hkh dqN ugha gksxkA ¼12% nj ij izFke ls r`rh; o"kksZa ds fy;s orZeku 

ewY; rF; ¼ih-oh- QsDVlZ½ Øe’k% 0.893, 0.797, ,oa 0.712 gSaA½ 

OR@@@@vFkokvFkokvFkokvFkok 

Q.7 Briefly explain the need of corporate – financial restructuring highlighting corrective 

measures, and steps taken by – 

  (i) Under – capitalized, and  

 (ii) Over – capitalized companies 

 O;olk; & foÙkh; iqul±jpuk dh vko’;drk dks la{ksi esa le>kb;s mtkxj djrs gq;s & 

 (i) vYi iwathÑr rFkk 
 (ii) vfr iwathÑr dEifu;k¡ lq/kkjkFkZ tks ekin.M] rFkk dne mBkrh gSaA 

UNIT –IV@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – IV 

Q.8 Distinguish between Traditional Theory and Modigliani and Miller Approach 

towards Capital structure of a company.  

 fdlh dEiuh dh iwath lajpuk ls lEcaf/kr ijEijkoknh fl)kUr vkSj eksMh fXy;kuh o feYyj 

mikxeu ds chp vUrj Li"V dhft;sA 
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OR@@@@vFkokvFkokvFkokvFkok 
Q.9 A company’s capital structure consists of the following - 

 ,d dEiuh dh iwath lajpuk esa fuEukafdr lfEefyr gSa & 

       Particulars ¼fooj.k½       `Lakhs ¼yk[k `esa½ 
• Equity shares of `100 each 
¼lerk va’k 100 ` izR;sd½ 

20 

• Retained Earnings 
¼izfr/kkfjr vk;½ 

10 

• 9% Preference shares 

¼9% iwokZf/kdkj va’k½ 
12 

• 7% Debentures 
¼7% _.ki=½ 

8 

Total ¼dqy½ 50 
 

 The company earns 12% on its capital. The Income Tax Rate is 50%. 

 dEiuh viuh iwath ij 12% dekrh gSA vk;dj nj 50% gSA 

 The company requires a sum of `25 Lakhs to finance its expansion program for 

which following three alternatives are available. 

 dEiuh dks vius foLrkj dk;ZØe gsrq 25 yk[k `dh vko’;drk gS ftlds fy;s fuEufyf[kr rhu 

fodYi miyC/k gSA 

 Option A: To issue of 20,000 Equity shares at a premium of `25 per share.  

 fodYi v% 20,000 va’kksa ¼lerk va’kksa½ dk izfr va’k 25 `izC;kth ij fuxZeu djukA 

 Option B: To issue of 10% Preference Shares.  

 fodYi c% 10% iwokZf/kdkj va’kksa dk fuxZeu djukA 

 Option C: To issue of 8% Debentures.  

 fodYi l% 8% _.ki=ksa dk fuxZeu djukA  

 It is estimated that the Price Earnings Ratios in the cases of Equity, Preference 

Shares, and Debentures financing would be 21.4, 17, and 15.7 respectively.   

 ;g vuqekfur gS] fd ewY; miktZu vuqikr] lerk iwokZf/kdkj va’k] rFkk _.k i=ksa ls foÙk iks"k.k 

djus ij] Øe’k% 21.4, 17, rFkk 15.7 jgsxkA 

 Which of the three financing alternatives would you recommend, and why?  

 rhu foÙkiks"k.k fodYiksa esa ls fdlds fy;s vki vuq’kalk@flQkfj’k djsaxs] vkSj D;ksa\ 
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UNIT –V@ @ @ @ bdkbZ bdkbZ bdkbZ bdkbZ – V 

Q.10 What is a Futures Contract? Explain, its features also.  

 ok;ns ds lkSns ;k Hkkoh lkSns & vuqca/k D;k gS\ blds y{k.kksa dks Hkh le>kb;sA 

OR@@@@vFkokvFkokvFkokvFkok 
Q.11 Write short notes on – 

  (i) SWAPS, and  

 (ii) Options 

 laf{kIr fVIif.k;k¡ fyf[k, &  
 (i) LoSIl ;k cnys ds lkSns] rFkk  
 (ii) fodYiksa] ij 

PART – C @ @ @ @ [k.M[k.M[k.M[k.M    & & & & llll 
Q.12 Write short notes on the following – 

 (i) Implied Rate of Interest 

 (ii) Deferred Payment 

 (iii) Annuity 

 fuEukafdr ij laf{kIr fVIIkf.k;k¡ fyf[k, & 
 (i) xfHkZr C;kt & nj 
 (ii) LFkfxr Hkqxrku 
 (iii) okf"kZdh 

Q.13 The G.M. Company Ltd. is considering an investment in one of the two mutually 

exclusive proposals: Project X, and Project Y; which require cash outflows of       

`3,40,000, and `3,30,000 respectively. The Certainty Equivalent (C.E.) approach is 

used in incorporating risk in capital budgeting decisions. The current yield on 

government bond is 8% and this be used as the riskless rate. The expected net cash 

flows and their certainty equivalents are as follows. 

 th- ,e- dEiuh ijLij vioftZ nks izLrkoksa% izktsDV X rFkk izkstsDV Y ij fopkj dj jgh gS 

fdlh ,d ij fofu;ksx djus dk ftuesa udn cká izokg Øe’k% 3,40,000 ` rFkk 3,30,000 ` 

pkfg;sA iwath ctVu fu.kZ;ksa esa tksf[ke rRo lafgr djus ds fy;s fuf’prrk & lerqY; (C.E.) 

mikxeu iz;qDr dh tkrh gSA ljdkjh czk.Mksa ij orZeku esa miktZu 8% gS vkSj bls tksf[ke jfgr 

C;kt nj ds :i esa iz;qDr fd;k tkuk gSA izR;kf’kr 'kq) udn vkUrfjd izokg vkSj budh 

fuf’prrk & lerqY; fuEukuqlkj gS & 
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 Required - 

 (a) Which project should be accepted? 

 (b) If risk adjusted discount rate is used, then which project would be with a higher 

 rate?  

 ¼v½ dkSu lh ifj;kstuk dks LohÑr fd;k tk;s\ 

 ¼c½ ;fn tksf[ke lek;ksftr cfÍr nj dk mi;ksx fd;k tk;s rc fdl ifj;kstuk ij Å¡ph nj 

 ij gksxh\  

Q.14 Write short notes on the following methods of Business Valuation – 

 (i) Fair Value Based, and 

 (ii) Earning Based 

 O;olk; ewY;kadu dh fuEukafdr fof/k;ksa ij la{ksi eSa fVIIkf.k;k¡ fyf[k,  & 

 (i) mfpr ewY; vk/kkfjr fof/k] rFkk 

 (ii) miktZu vk/kkfjr fof/k 

Q.15 ABC Ltd. has Equity Share Capital of `5,00,000 divided into shares of `100 each. 

It wishes to raise further `3,00,000 for expansion purpose. 

 ABC fy- dh lk/kkj.k ;k lerk va’k iwath 5,00,000 ` dh 100 ` okys va’kksa esa foHkDr gSA ;g 

pkgrh gS] fd 3,00,000 ` vkSj foLrkj mís’; ds fy;s ,df=r fd;s tk;asA 

 The Company plans the following financing alternatives -  

 dEiuh fuEufyf[kr foÙkiks"k.k fodYiksa ij fopkj djrh gS & 

 (i) By issuing Equity Shares only.   

  dsoy lerk va’kkas ds fuxZeu djus lsA 

  

 Project ¼ifj;kstuk½ X Project ifj;kstuk Y 

Years end    

¼o"kZ lekfIr½ 

Cash in Flow   

¼udn vkUrfjd izokg½ 

C. E. Cash in Flow   

¼udn vkUrfjd izokg½ 

C. E. 

1 `1,80,000 0.8 `1,80,000 0.9 

2 `2,00,000 0.7 `1,80,000 0.8 

3 `2,00,000 0.5 `2,00,000 0.7 
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 (ii) `1,00,000 by issuing Equity shares and `2,00,000 through Debenture @ 10% 

 per annum.   

 1,00,000 ` lerk va’k tkjhdj rFkk 2,00,000 ` 10% izfro"kZ C;kt okys _.ki= 

tkjh djus lsA 

 (iii) By raising Term Loan only at 10% per annum. 

  dsoy dkykof/kd _.k 10% izfro"kZ C;kt okys] lsA 

 (iv) `1,00,000 by issuing Equity Shares and `2,00, 000 by issuing 8% Preference 

 Shares.   

  1,00,000 ` lerk va’kksa rFkk 2,00, 000 ` 8% iwokZf/kdkj va’kksa dk fuxZeu djdsA 

 It is to be assumed that the estimated “Earnings before Interest and Taxes”     

(EBIT) after expansion is `1,50,000 and corporate income tax – rate is 35%   

 vki eku yhft;s fd foLrkj ds i’pkr C;kt rFkk dj ls iwoZ miktZu ¼bZ-ch-vkbZ-Vh-½     

1,50,000 ` vuqekfur gS vkSj dEiuh vk;dj & nj 35% gSA 

  You are required to suggest the Best Alternative. 

  vki ls pkgk x;k gS fd loksZÙke fodYi dk lq>ko nsaA 

Q.16 Write short notes on any three out of the following – 

 (i) Credit Derivatives 

 (ii) Merger and Acquisition 

 (iii) Financial lease, and 

 (iv) Types of mergers 

 fuEukafdr esa ls fdUgha rhu ij y?kq fVIif.k;k¡ fyf[k, & 

 (i) lk[k O;qRifÙk;k¡ 

 (ii) ,dhdj.k ;k foy; rFkk vf/kxzg.k 

 (iii) foÙkh; iÍk] rFkk 

 (iv) ,dhdj.k ds izdkj 

----------------------------------------- 


